A2 xRER

iR =

(I BR £ — & A #L)

AHERR SH1FEIA 128
% £ AR EEEEERHMTHEN R L EEMRTERET
T % 4% 2266,000 M |# B & 4% 2,039,400 M
ANERE ANERR
ZHELR 2,060,000 M |AHEEE 1,854,000 M
[ THRLEE. ALENREL - BUALLEDH J
ERRUMAEHERZSETLEETHS, XEM B EHR)
A #HoB| A #, ,iii 1 A A = -
BARHE 1,950,000 EALIERE
EAF9FEEE
Ll 2,200,000
B KORHRE 1,650,000 e (SRAE 1 PR A 4 )
Btert FH/%E 2,050,000

5 EREBITREI6TRDIBICENTERT ORFEI6TEDI0FE1ED
MEICEYFILEBEZRELLBEICE TS EAELLER

=L S M4FE3831H

ERDEEYLRLEYS

FT




(G

st

vl

RS

LRI F 7

W=
(1) #I

(2) % FHIRR

(3) 56 T HIBR

5

=S
&

4B FH (Blid)

STITORB A E FA TN e SR LR =ik 5 e 2 Re
RaNT ETFRET HpN
R T

BLH A — 2
R R
R BBt

R RN ET10%33 5
HARRGE

HA

STI49H13H b SF4ELILALILE £T
ASFIEIH19H
ASF4AE1LALLH

2,145,000



